FEHEKEIE = 5K
201/ HEKSED—E aSHRELER
- oz o . == PO} 7I_\O‘y|‘J: PO =} /\‘/%‘/ . g = sk B a2 =
TED AR BHR M B | B8R |BEH| 8E | | BE 3/\:% A | =2 |EHEH| 82 |15 f|E X s &
V)
#I 35 CM
FYLSR)TE 45595 919 ;’H 45| 1024 9 SEE
. oo . Lk L
LyRE—ILR RE—  |[#o® or26| 2| 400| 1031 104 1705 80|z@a. | 50-80
T—T—H ~AO=# |A+sam| 926 Eﬁ’ k 40| 10.31 0
SFo—FIn—X  |HRIUY 9/26 Eﬁ’ k 50 10.31] 12 20-120
AVESY .
E4S(EER) zsUB | one| BV M| 300| 10.24| 258 77555 | 170 Nt LS e
. +JLk BRI
FA)—k £RE |dw/ngy 9/26| 100| 10.24| 58 17.1.5| 40 %ﬁm 90-130
SEHYR A4 38| 9/26 Eﬂ"‘ 32 1031 12 30-180 |2 &EE
LFUT amE 44538 9/15 f‘l_’a 5 25 ERETE
FAYAFFLa  |grrFoalyFoan 10/6 gt‘»ﬂ% 37




